
©
 A

lle
 Z

ei
ch

nu
ng

en
 si

nd
 E

ig
en

tu
m

 d
er

 K
N

AP
P®

 G
m

bH
 | 

Al
l d

ra
w

in
gs

 a
re

 th
e 

ex
cl

us
iv

e 
pr

op
er

ty
 o

f K
N

AP
P®

 G
m

bH
. |

 To
us

 le
s d

es
si

ns
 so

nt
 la

 p
ro

pr
ié

té
 d

e 
KN

AP
P®

 G
m

bH

©
 K

N
AP

P®
 G

m
bH

 | 
Al

le
 M

aß
e 

in
 m

m
 - 

Irr
tü

m
er

, D
ru

ck
fe

hl
er

 u
nd

 Ä
nd

er
un

ge
n 

vo
rb

eh
al

te
n 

| A
ll 

m
ea

su
re

s i
n 

m
m

 - 
Er

ro
rs

 e
xc

ep
te

d 
| T

ou
te

s d
im

en
si

on
s e

n 
m

m
 - 

sa
uf

 e
rr

eu
rs

, f
au

te
s d

‘im
pr

es
si

on
 o

u 
m

od
ifi

ca
tio

ns

VERSION: 09.09.2025

Montageanleitung   I   Construction Manual   I   Notice de montage

EVO GRIP 500

Art.-Nr. K1100, K1110, K1120, K1130, K1140, K1150,K1160

Deutsch S. 2

English     S. 6

Français S. 10

EVO GRIP



Pos Nr. Bauteil

500x60x40 500x100x40 500x140x40 500x180x40 500x220x40 500x260x40 500x300x40

Art.Nr. K1100 Art.Nr. K1110 Art.Nr.K1120 Art.Nr.K1130 Art.Nr.K1140 Art.Nr.K1150 Art.Nr.K1160

1 Verbinderplatte 400x60x40 400x100x40 400x140x40 400x180x40 400x220x40 400x260x40 400x300x40

2 H-Verschraubung 12xSK 8x120 12xSK 8x120 12xSK 8x120 12xSK 8x120 12xSK 8x120 12xSK 8x120 12xSK 8x120

3 Schrägverschraubung 24xSK 8x160 40xSK 8x160 40xSK 8x160 40xSK 8x160 44xSK 8x160 48xSK 8x160 48xSK 8x160

4 Feststellschraube 2x M10x40 2x M10x40 2x M10x40 2x M10x40 2x M10x40 2x M10x40 2x M10x40

EVO-GRIP 500



O

O

O

EVO GRIP 500 a b c d e f

500x60x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x100x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x140x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x180x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x220x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm

500x260x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm

500x300x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm



O

EVO GRIP 500 a b c d e f

500x60x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x100x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x140x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x180x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x220x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm

500x260x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm

500x300x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm

O O





Pos No. Part

500x60x40 500x100x40 500x140x40 500x180x40 500x220x40 500x260x40 500x300x40

Art.No. K1100 Art.No. K1110 Art.No.K1120 Art.No.K1130 Art.No.K1140 Art.No.K1150 Art.No.K1160

1 Connector plate 400x60x40 400x100x40 400x140x40 400x180x40 400x220x40 400x260x40 400x300x40

2 Horzontal Screw connection 12xSK 8x120 12xSK 8x120 12xSK 8x120 12xSK 8x120 12xSK 8x120 12xSK 8x120 12xSK 8x120

3 Angled Screw connection 24xSK 8x160 40xSK 8x160 40xSK 8x160 40xSK 8x160 44xSK 8x160 48xSK 8x160 48xSK 8x160

4 Locking Screw 2x M10x40 2x M10x40 2x M10x40 2x M10x40 2x M10x40 2x M10x40 2x M10x40

EVO-GRIP 500



O

O

O

EVO GRIP 500 a b c d e f

500x60x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x100x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x140x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x180x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x220x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm

500x260x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm

500x300x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm



O

EVO GRIP 500 a b c d e f

500x60x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x100x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x140x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x180x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x220x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm

500x260x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm

500x300x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm

O O





Pos Nr. Désignation

500x60x40 500x100x40 500x140x40 500x180x40 500x220x40 500x260x40 500x300x40

Réf. K1100 Réf. K1110 Réf. K1120 Réf. K1130 Réf. K1140 Réf. K1150 Réf. K1160

1 Plaques de connexion400x60x40 400x100x40 400x140x40 400x180x40 400x220x40 400x260x40 400x300x40

2 Vis horizontales 12 vis TF 8x120 12 vis TF 8x120 12 vis TF 8x120 12 vis TF 8x120 12 vis TF  8x120 12 vis TF  8x120 12vis TF  8x120

3 Vis biais 24 vis TF 8x160 40 vis TF 8x160 40 vis TF  8x160 40 vis TF  8x160 44 vis TF 8x160 48 vis TF 8x160 48 vis TF 8x160

4 Vis de blocage 2 vis M10x40 2 vis M10x40 2 vis M10x40 2 vis M10x40 2 vis M10x40 2 vis M10x40 2 vis M10x40

EVO-GRIP 500



O

O

EVO GRIP 500 a b c d e f

500x60x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x100x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x140x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x180x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x220x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm

500x260x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm

500x300x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm



EVO GRIP 500 a b c d e f

500x60x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x100x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x140x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x180x40 30 mm 50 mm 105 mm 60 mm 60 mm 60 mm

500x220x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm

500x260x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm

500x300x40 30 mm 50 mm 80 mm 60 mm 60 mm 60 mm

O O





Knapp GmbH I Wassergasse 31 I A-3324 Euratsfeld I Tel.: +43 (0)7474 / 799 10 I Fax: +43 (0)7474 / 799 10 99 

Knapp GmbH I Vertrieb Deutschland I Föhrenweg 1 I D-85591 Vaterstetten  
Tel.: +49 (0)8106 / 99 55 99 0 I Fax: +49 (0)8106 / 99 55 99 20 I E-Mail: info@knapp-verbinder.com

KNAPP GMBH I 3 rue du Stade I F-67880 Innenheim I Tél. : +33 (0)3 88 48 17 87 I E-mail : france@knapp-connectors.com


	Montageanleitung_Titel_Ansicht.pdf
	KNAPP_EVO GRIP 500_Instruction.pdf



